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4. TEHOBME

RISFEELYTFE
AR A> B FH
% AN T AR ) TR IS
TR AL TR HERR L AR fl
O R e 5,330,361 10.6 5,143,713 10.6 186,648 3.6
B’ OB It A 724,482 1.4 670,348 1.4 54,134 8.1
A F oA R A 150,400 0.3 151,246 0.3 A\846 A 0.6
BoE B I A 17,561 0.0 17,399 0.0 162 0.9
bR N BE A A 34,251,686 68.1] 32,834,353 67.4 1,417,333 4.3
= BB JE S XA 663,704 1.3 773,324 1.6 /109,620 A 14.2
=Pt EE S A 375,814 0.7 364,672 0.7 11,142 3.1
FOKM & It A 506,046 1.0 467,281 1.0 38,765 8.3
OB 4 %O A 1,303,753 2.6 1,190,531 2.4 113,222 9.5
HE I A 493,933 1.0 398,487 0.8 95,446 24.0
MooB I A 1,364 0.0 277 0.0 1,087 392.4
£ # & A & 1,134,986 2.3 4,170,081 8.6 ~A3,035,095 A 72.8
AR N7 48 B I A 5,347,164 10.6 2,523,635 5.2 2,823,529 111.9
at 50,301,254 100.0 | 48,705,347 100.0 1,595,907 3.3
<k H> B4 FH
% AN TR A FIAF ) T o
TR R L T AR L WA fip =
ES % # 42,851,596 85.2| 40,609,191 83.4 2,242,405 5.5
B OB R & 761,161 1.5 643,506 1.3 117,655 18.3
2/ T R < ¢ 1,265,574 2.5 1,163,516 2.4 102,058 8.8
R S R ¢ 20,970,721 41.7| 19,291,742 39.6 1,678,979 8.7
BRI SR R 281,545 0.6 234,992 0.5 46,553 19.8
S R S ¢ 480,015 1.0 527,683 1.1 /47,668 A 9.0
% 7t F OE B 94,813 0.2 102,822 0.2 8,009 A T.8
ol ¢ 116,387 0.2 136,512 0.3 120,125 A 14.7
B N & 89,818 0.2 72,500 0.1 17,318 23.9
® B N W& 7,303,091 14.5 7,053,371 14.5 249,720 3.5
=N ¢ 11,488,471 22.8| 11,382,547 23.4 105,924 0.9
— kB A 1,554,313 3.1 1,089,812 2.2 464,501 42.6
WooB % M 16,709 0.0 4,513 0.0 12,196 270.2
E H 8 4 38,548 0.1 35,000 0.1 3,548 10.1
Rk EOE WO 4,884,918 9.7 6,060,687 124 21,175,769 A 19.4
B A& HE e 955,170 1.9 906,144 1.9 49,026 5.4
7 50,301,254 100.0 | 48,705,347 100.0 1,595,907 3.3
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